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BCT And SE

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4marks.

Answer all Five questions from Group C, each question 

carries8 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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                 GROUP  - C

Answer all Five Questions.
5x8 = 40

7. Define and explain TDMA.

TDMA 

Define and explain Johnson noise and transist 
time noise.

What is the advantage of digital communication 
over analog communication.

8.

OR
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

P.T.O

5.

6.

OR

OR

4

4

The Frequency range of VLF is

(a) 3-30 KH Z

(b) 3-30 GHZ

(c) 3-30 MHZ

(d) None of these

The thermal noise is directly proportional to

--------, where B is bandwidth in H2

(a)    B 

(b)    B
2

(c)    B
3

(d)    B

What are external noise classify them.

Why is FM less noisy than AM.

FM, AM 

created in a receiver.

What do you mean by optimum reverberation of 
a room?

OR

                 GROUP  - A

O4032O4032
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(iii)

(iii)

(ii)

P.T.O

OR

OR

3.

4

In a communication system noise is most 

likely to affect the Signal—

(a) In the channel 

(b) At the receiver

(c) At the transmitter

(d) At the source

Draw the circuit diagram of Balanced modulator
and briefly explain.

communication system.

Define and explain  noise figure and noise 
temperature.

wave is given by P =                 , where the termsS

have usual meanings.

4.

1
4

2 P .MC

4

1
4

2 
P .MC

O4032O4032
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(iv)

(iv)

(v)

P.T.O

The intrinsic impedance of free space is
(a) 120 p W
(b) 400 W
(c) 500 W
(d) 100 W

In sampling theorem the Nyquist internal
is given by

(a) T =
 
(b) T =  

(c) T = 

(d) T = 

What is the increase in velocity of sound 
in air for per degree centigrade rise in 
temperature.   

-1
(b) 30 Cms

-1
(c) 40 Cms

-1
(d) 60 Cms

1
2fm

1
fm
p

fm
1

pfm

1
2fm

1
fm
p

fm
1

pfm

                 GROUP  - B

Answer all Five Questions.
4x5=20

2.

                 

                Derive the relation between Carrier power and 
                total power in Am wave.

                AM 

4

(xx)

(xx)

O4032 O4032
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(vi)

(vi)

(vii)

(v)
(xviii)

 Cms
 Cms
Cms

modulated
(a) Frequency 
(b) Amplitude
(c) Phase
(d) Angle

TV 

m = modulation index, then

(a) P  = S

(c) PS

(d)

1 dB is equivalent to

(a) 8.6 N

(b) 0.115 N

(c) 10 N

(d) None of these

1 dB 

 0.115 N

 10 N

(a) 5 MHZ

(b) 5.5 MHZ

(c) 4.5 MHZ

(d) 10 MHZ

( ) 5.5 MH

( ) 4.5 MH

( ) 10 MH

1
2

2
m  PC

 = 1
4

2
m  PC

1
3

2m  PC
 = 

 None of these

(xviii)

(xix)

(xix)

O4032O4032
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(xvi)

(xvi)

(xvii)

(xvii)

(vii)

(viii)

(a)     4 K T R B 

(b) 

(c)     2 e 9 B

(d) 

Which of the following require synchronizing 

signal ?

(a) PPM 

(b) PAM

(c) PDM

(d) All of the above

 PAM

 PDM

If P = total power, P = carrier power, and TC

m = modulation index, then,

(a) P = P (1+ TC

(b) P =  T

(c) P =   T

(d) None of these

1
2

2
m PC

1
4

2
m PC

1
3

2
m PC

2
m
2

)

2
1   m PC

2

2
1   m PC

4

4 K T R B

2 e 9 B R

4 K T R B

O4032 O4032
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For best result, m is

(a) Less than one 

(b) Less than one but close to unity

(c) Equal to one

(d) More than one

m 

 

(a) Amplitude 

(b) Frequency

(c) Phase

(d) Both (a) and (c)

Communication is the process of

(a) Keeping in touch 

(b) Broadcasting

(c) Exchanging information

(d) Entertainment by electronics

(ix)

(xiv)

(ix)

(xv)

(xv)

(viii)(xiv)

2m
2

)

21   m  PC

2
21   m  PC

4

P  = P  (1+ T C

O4032O4032

P.T.O

T C
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(a) Before modulation

(b) After modulation

(c) Before detection

(d) After deterction

developed at

(a) 9F stage

(b) AF stage

(c) RF stage

(d) Receiving antenna

(xii)

(xiii)

(xiii)

(xii) (x)

(x)

(xi)

(xi)

Over modulation results in

(a) Weakening of signal 

(b) Excessive carrier power

(c) Strenthaning of signal

(d) Distortion

Which of the following has higher frequency

range of broadcast

(a) AM 

(b) FM

(c) PM

(d) None of these

  FM

O4032 O4032

P.T.O
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OR

9. Enumerate the points of special concern while 
recording is in progress.  Explain with example.

Explain as to why PCM is more noise resistant 
than other forms of pulse modulation.

PCM 

total power of AM wave.

AM 

receiver and explain the importance of local 
oscillator.

10.

OR

8

8
               

OR

9. Enumerate the points of special concern while 
recording is in progress.  Explain with example.

Explain as to why PCM is more noise resistant 
than other forms of pulse modulation.

PCM 

total power of AM wave.

AM 

receiver and explain the importance of local 
oscillator.

10.

OR

8

8

O4032O4032
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OR

***

11.Briefly describe digital modulations.

Write brief note on any two of the following.
(a) Noise   
(b) TDM   
(c) FDM

(b) TDM   
(c) FDM

8

               

OR

***

11.Briefly describe digital modulations.

Write brief note on any two of the following.
(a) Noise   
(b) TDM   
(c) FDM

(b) TDM   
(c) FDM

8
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